®

1497 | Cowidee y=Fix) RS2 . lipply e

X tx-2

W%mw /WJAM/LM

A licbin
| For £l s gﬁﬂf}ww . (A l) :
G+ 2D7%-1) vy bt —

fo Al Jovess of £ o (oo, -2) U (=2, 1) U(L =)

/vaoo f/X)léf/‘X) e f‘/v s /J/LM

Mfwnecf L W = &La_aw A% f(Ai—# -y

/tfi ’«f"vw/w ,
Lo Frx) = Lo (K'l) L (-1
x>1 x21 heplx-1) %21 T[xe2)
_ (1-1)* .9 .5 -
[1)+2 3
(D) We Aie : _
y'= 'l = (2(x-1)](x¢2) -(x-1) [ L]
| (x+2) * \ |
= ) (2aed —(x-1)) L 1) x+8)
(x+2)* (x+3 *

@A, x;"s-»{.,v Ve W;ﬂoz,v/ M I('II'S}TO
| Nt ) aechen  f5 L men x = "L e

/




>

@ W (,wwf«:a s e —
T N / ]
e Coo,=5) [ 52y [ (2 1)
vALUE /A,’ —6 3 0 -

Fia) [(E6)-1)((6)+8) [(3)-1)((-3)vs) |{(0)-1) (Lo] <S)

(C6)+2)* (-»)+2* | (o) +2)*

- (DD / e |- 6Y BV U 5) (Y

/(%) -+ - -
fix) | 1Twce pEC pEc
R i £ 0 R

vALUE h , 2 P )

T ) [ (9 l)t5) — (102)

| ((2)+2)~ -{y*
P + |

f/x)_| M€

S £ i anve o [,-53 U1, ),

{f & DEC o [E5,-2) U (-2 1)

/

E)| dewe Fltx) = X 1O + (X =5 ,7,%;.\
| (x+2) ™
7 (x] = C?W‘thzp?’«- ()(l—!"'(lx«f}[?,()g%lﬂ
[(x+2)") "
=y ) ((x+2) " = (x*e4x-5))
(x+2)"

= 2(x+2) (X‘*YW‘(')(”«‘/XW); 2(4)

(x+2] * _ (x2)’




O,

1 &

B ‘F”/X/ = f)(‘l'l) > , /{i@. ,{jﬁﬁwi O~y M~

~ - - e
W i/.',uv“m/év (/Lt*rh—oﬂ -2 A /""“'l/ir Ay Ié&

drmstm  of £) My e _consihe .
(e —2) (-2, 1) |(1,20) |
,Tf?;{ué . "3 0 L
£7(4) 5/ [(-3)+2) ? IX/[(aHz)SI% 19242 )3
= (g = 94 = U3
LA [ - + |+ ]
l_/.f = - cb —T a1 eu ]

Ao o U o (Z2,1) A C)M(w-z)(/[JW)

K)/M( fox) = (x- lj‘;‘/ﬁ;l/ il L —

)(41

Do, U hfoihs Lomts Hova, y~ £13)

_________

——— _ 7
y Jl/P—MGA/\,W a,/x"’.l,

v B e x»>-2*

o A2, Y S () g~ adar

- x+ 2 ) -

| AL\, f'ﬂ/}(}\"— o0 ‘ ?’V\ 7{";"1'7&/)

X2 -2°
G-t o W, el Ll fldseo.
% F2 ) N | 5>-27

fice £ Ox)= (x-U)7  x*o2xtl i x2

xt2 Cox 2 ’

1

/é/l/ o /L/a/t&/;,.wﬂ ‘ i,ﬁf@’u‘ t&z A~ O L/]// /DL( ﬁ&jﬁu 4;

4



He mrecatin 2& Nvm,{j,,ﬂ S Aeypee

M)a“gf;ﬁ«zw WWJEA@V‘C
X -4

(x+2) /53 *=27+1 S At

__{X‘ ’{‘{ﬂ} “’f[;.{,l:}f't!* 61 ,
~Yy +1 XFe
—(-1x -8 e Mece y: a=9
? A Jee C”ﬁ’[‘t“'% %ybﬁi’{@
() Ntu bt flal = (t0)- 1~ "
| (a)+2 =

/}{w iy J{/:.L vl A tvu&u’) ﬂ., e ‘ZIA,/

Yool odive );// Lreid Cplonne ( Heypa 43 4)

P A o doif b SAX of XS A

fi-s) = [(5)-D™ 36 _ _

I}
— = T A

5)+2 -3

7 7 ‘




